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Justify

i

Idertify/Seate/Name | Recall or select one or more pieces of information.
Define State the measing of a term.,
Csiculate Produce & numerical answar, shoawing relevant working.

Draw/plot

Create a giraphica! represencation of geographical infermation,

Lzhat

Add a {abel/lzbels te 2 given resource, graphic or image.

Descidba

Give @n account of the main characteristics of something or the steps
in a process. Statements in the response should be developed but do
net nead to include 3 justification or reason.

Compars

Find the similarities and differences of tio elements given in 2
question. Each response must relate to both elements, and must
include @ statement of their simifavity/diferance,

Evplain

Provide a reasoned explanation of how or why samething occurs, An
explanation requires a justificationfexemplification of a point. Some
questions will requive the use of aunotared diagrams to suppert
explanation,

Suggest

Apply understanding 1o provide a reasoned explanation of haw or
why something may accur, A suggested explanstion reguives a
Justificationfexemplification of a point,

Examing

Break something down inte individual componentsfprocesses and say
haw eath one individually contributes 1o the question’s theme/tapic
and how the components/processes work together and interselate.

Assess

Use evidence to datarming the relative significance of something.
Give cansideration to all factors and identify which ave the most
impatant,

Discuss

Explora tha strengths and weaknessas of different sides of an
issuefquestion. Invastigate the issue by veasoning or argumeant.

Measure the value or succass of something snd uhimately provide a
substantiated judgement/conclusion. Review information and then
bsing it togethar ta form a conclusion, dawing on evidence such as
strengths, weak i tives and releyant data.
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Short Open Response Questions

Example 1 - GCSE A, Paper 2, Question 1 c (i) & (iv)

1 The causes and effects of urhanisation can vary between countries at different levels
of development.
(c) Study Figure 1b in the Resource Booklet.

{Source: Image3 14542390 fkedachromel sy Istock)

Figure 1b

Evidence for deindustrialisation

(i) Identify two pieces of evidence that show this area has experienced
deindustrialisation. '

(2)
(iv) Using just the phbtograph in Figure 1b to investigate deindustrialisation
would be limiting. -
Give three changes that could be made to this investigation that would help
prove that other areas have been affected by deindustrialisation.
(3)

2 © Pearson Education Ltd 2015.




GCSE Geography (9-1) Examiner Marked Student Responses

Mark schemes

e

Question | Answer THMark |
number . S v : .
1{c){i) Award 1 mark for each of the following, ep to a maximum of 2
marks:
Owergrown vegetation {1)
Broken windows/boarded up (1}
Deserted/no industrial activity {1)
Derelict {1)
Meglected £1)
Accept any other appropriate response {21
Question | Answer | Mark
number - v : : ; -
1{c){iv} | Award 1 mark for each change, up to a8 maximum 3 marks:
Using land use maps or satellite images (1)
Using graphs of employment sectorfunemployment {1}
Using GIS (1)
Accept any other appropriate response {3)
Student answers to part (i)
(i) Identify two pieces of evidence that show this area has experienced
deindustrialisation,
2)
Evidence 1
I Figure  1d lk Rijding  ne  ucown - segetara
o ; : o it/ :
wil Svits e b gl o
Evidence 2

OF o

® Pearson Education Lid 2015.




Examiner s comments
This response is awarded 2 marks.

The candidate has actually been awarded two marks for the
sentence included in the ‘Evidence 1’ section, “....the building has
overgrown vegetation (1) and smashed windows (1)".

Whilst it is expected that the candidate would write one valid point
in each of the evidence sections, this ‘two-in-one’ approach is
acceptable.

(i) ldentify two pieces of evidence that show this area has experienced
deindustrialisation. '

(2)
Evidence 1

The area is ,Duu of ()Ufifgfowf\ uegetmeion

Evidence 2

The \Du”du;{\g s cerelick

Examiner s comments
This response is awarded 2 marks.

In the Evidence 1 section, the candidate has written, ... full of
overgrown vegetation” (1) and in the Evidence 2 section, “...building
is derelict” (1).

(i) Identify two pieces of evidence that show this area has experienced
deindustrialisation, ’

(2)

Evidence 1 :
ije‘w 15 ohefa o mqeﬁa/ﬁom anoud M é()iil@a

AN

Evidence 2

Tk a(& LOO UM) ,0 (. lhen [ UM S ll)@o{[)/) ./OSI‘I)Q
L‘mf ob% rJ , c[oﬂi 0f marp(ms@s P/(?Sfﬂjf\‘/ Jn‘(/)/),

i

4 © Pearson Education Ltd 2015.
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GCSE Geography (9-1) Examiner Marked Student Responses

Examiner’ s comments
This response is awarded 1 mark.

The candidate gets a mark for the first evidence box - overgrown
vegetation (1) (but the crossed out text is not marked).

In the second evidence section, the candidate does provide a
legitimate consequence of deindustrialisation, but as this is not
clearly evident on the resource, does not gain credit.

Student answers to part (iv)

(iv) Using just the photograph in Figure 1b to investigate deindustrialisation
would be limiting. -

Give three changes that could be made to this investigation that would help
prove that other areas have been affected by deindustrialisation,

(3)
A Gw,r}jxa \n‘h@d) COJir,( be. mfm[P, Tﬁ) LiSe fcma(, RN

[ q(L{)S 0 (ujcu - Lalbhy See..... allcly ,Lm}w(?m; Gie.... S s

v

(ode.. lafhich....cnes . e, noke.. B Well. s U&??j Berues

N 8&3@ Carlh Lo Vind out  Make ok

the bﬁf(xce's. bﬁov C.o w( C&léh e 81/(467(,\3 of

\QM(f?I m‘lj’/\/’ &k aind e f’/ C{(j w046 Lo See W Ll G2

Gl Crdau linuy Geocle Molé...
VU \J 1 (/w

Examiner s comments
This response is awarded 3 marks.

The command word is ‘give’ which means that one mark is awarded for
each change - and no further development is required.

The candidate is awarded their first mark for, “use land-use maps” (1), but
no further credit for the description about how these could be used. The
second mark is awarded for the reference to Google Earth (an example of
GIS) (1) and the third mark for, “... could also use graphs of employment
and unemployment” (1).

© Pearson Education Ltd 2015, [
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These question will appear at the start of each section with the commands:

° State

° Identify
° Give

e Name

They will tend to one or two marks only and are a test of your knowledge.

If you are aiming to write approximately one mark per minute, these should take a lot less. You
should aim to spend only 10-20 seconds on them.

You should see these as a chance to gain time as you should only need to tick a box or write one or
two key terms. That gained time can be used when you are planning or writing your longer answers
later in each section.

It is important that you complete all of them because the marks will add up over course of the 3
exams.

Finally, look carefully at each page, the questions can be hidden and it’s easy to miss simple marks
for example, you can-be asked to fill in an area on a map.

&,



SECTION A

The changing landscapes of the UK

Answer all parts of question 1. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box [X. If you change your mind about an
answer, put a line through the box ¢ and then mark your new answer with a cross [X.

1 UK landscapes are constantly being changed by different processes.
(a) (i) State one example of a sedimentary rock.
(1)
schist
slate

basalt

H & B O
O Nn W >

chalk

(i) State one characteristic of a sedimentary rock.

(b) Identify the location of one area of granite landscape in the UK.
(1)

South Wales

South west England

East Anglia

0O oo o
O N @ >

South east England

(o) (i) Farmingis one example of an activity that affects the landscape.

State one other example of a human activity that affects the landscape.

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue | — November © Pearson Education Limited 2015




Paper 1 Mark scheme

Question Answer ‘Mark
number :
1(a)(i) D 1)
Question | Answer Mark
number . :
1(a)(ii) Award 1 mark for one of the following, maximum 1 mark:

Rocks formed in layers (1)

Idea of compaction/cementation (1)

Oldest rocks are at the bottom/youngest at the top (1)

May contain fossils of plants and/or animals (1)

Accept any other appropriate response

(1)

Question | Answer Mark
number ,
1(b) B 1)
Question | Answer Mark
number ' , -
1(c)(i) Award 1 mark for one of the following, maximum 1 mark:

Forestry (1)

Urbanisation/settlement (1)

Deforestation (1)

Building of roads/rail (1)

Reject farming/agriculture

Accept any other appropriate response

(1)

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue | — November © Pearson Education Limited 2015




Answer only two questions from Question 2 (Coastal landscapes and processes),
Question 3 (River landscapes and processes)
and Question 4 (Glaciated upland landscapes and processes).

Question 2: Coastal landscapes and processes
If you answer Question 2 put a cross in the box [] .
Coastal landscapes are constantly being changed by different processes.

2 (a) Study Figure 1 in the Resource Booklet.

(i) Identify one erosional landform shown in the coastal landscape on Figure 1.
(1
(ii) State one type of biological weathering that might have an impact on
this landscape.
(1)
(iii) Rip rap is an example of hard engineering.
Explain one way rip rap helps protect coastal landscapes.
(2)

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials — —’ @
Issue | — November © Pearson Education Limited 2015




Question | Answer Mark
number-
2(@)() Award 1 mark for one of the following, maximum 1 mark:

Stack (1)

Cliff (1)

Wave cut platform (1)

Bay (1)

Arch (1)

Headland (1)

Reject depositional features

Accept any other appropriate response

1)

Question | Answer | Mark-
number , R g el
2(a)(ii) Award 1 mark for one of the following, maximum 1 mark:

Root action is where roots grow into the ground (1)

Chelation/influence of soil acid (1)

Action of animals such rabbit burrowing (1)

Reject erosional processes

Accept any other appropriate response (1)
Question | Answer | 'Mark..
number S : o e , LT e e
2(a)(iii) Award 1 mark for point about rip rap and a further one mark for

how this protects coastal landscapes, up to a maximum of 2
marks: :

Large (manmade) boulders are placed along the cliff line (1)
which protect the coast by acting as a sea wall (1)

The gaps between the rocks allow water through (1), therefore
slowly dissipating energy (1)

Accept any other appropriate response

(2)




SECTIONB
Weather hazards and climate change

5 The UK's climate experiences significant variations.

(@) (i) State one natural cause of climate chahge in the past.

(i) State two sources of evidence for natural climate change in the past.

(2}
Lo
2 ......................

Question 3: River landscapes and processes
If you answer Question 3 put a cross in the box [7] .
River landscapes are constantly being changed by different processes.
3 (a) Study Figure 3 in the Resource Booklet.
(i) Identify one landform in the river landscape shown in Figure 3.
, (1)

(i) State one type of chemical weathering that might have an impact on
this river landscape.




Question
number

Answer

Mark :

5(a)(i)

Award 1 mark fof one of the following, maximum 1 mark:
Orbital changes/Milankovitch cycles (1)

Solar variation/sunspot activity or cycles (1)

Volcanic eruption (1)

Reject human causes such as the EGE/global warming.

Accept any other appropriate response.

1)

Question
‘humber. .

Arnswer

'-fiMark'A'

5(a)(ii)

Award 1 mark for each correctly identifiéd source of evidence, ‘

up to 2 marks:
Ice cores (1)
Pollen records (1)
Tree rings (1) |

An example of a historical sources (e.g. painting) (1)

Accept any other appropriate response

number

Question -

Answer

3(a)(i)

Award 1 mark for one of the foﬂowfng, maximum 1 rﬁark: ‘
River cliff (1)

Slip off slope/point bar (1)

Meander (15

Flood plain (1)

Accept any other appropriate response.

(1)

.number

‘Question

Answer

3(a)(ii)

Award 1‘mark for one of the foIloWing, rhaximum ‘1 mavrk:
Carbonation/acid rain (1)

Dissolution/solution weathering (1)

Accept any other appropriate response

(1)

Pearsén Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue | — November ©® Pearson Education Limited 2015 -




(d) (i) State two goods or services provided by tropical rainforests,
: {2)

7 Biodiversity is influenced by the interrelationship and interaction of biotic and abiotic
factors.

(a) Define the term ‘abiotic’

6 Extreme climate and weather conditions can create major hazards for people.
(a) Study Figure 8 in the Resource Booklet.

(i) Identify the location on the globe which has low pressure.

A North Pole

B 30°North

C South Pole

D 0° (the Equator)

(i) Which of the following sources of geographical information would you select
to investigate the weather conditions at location X?
{1)

] .A average temperature graph

B infrared satellite image

C average rainfall graph

[l D Saffir-Simpson magnitude data




Question | Answer Mark
number v o P
7(d)(i) Award 1 mark for the following, up to a maximum of 2 marks:
Foodstuffs or specific examples (1)
Medicines or chemical/genetic material for medicines (1)
Timber/wood (1)
Recreation or other cultural value (1)
Accept any other appropriate response.
(2)
Question | Answer Mark -
7(a) Abiotic refers to the non-living component of an ecosystem
Reject living components.
Accept any other appropriate response (1)
Question | Answer Mark:
number ' ‘ "
6(a)(i) D 1)
Question | Answer Mark -
“number ' ’ e
6(a)(ii) B (1)

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue 1 — November © Pearson Education Limited 2015




SECTION C
Resource Management
Answer all parts of question 3. Write your answers in the spaces provided.

Some questions must be answered with a crossina box X. If you change your mind abt an
answer, put a line through the box ¢ and then mark your new answer with a cross X

3 The distribution and demand for natural resources varies around the world.

(a) Fish are a biotic resource. Name two other biotic resources.

N4
TN

(iv) State two components that form part of the Human Development Index (HDI).

L2}

Study Figure 2b in the Resource Booklet.
(b) The following statements describe different types of development project.
Identify the two statements which describe the type of project shown in Figure 2b:

(2]

A The project relies on intermediate technology

B Local people are responsible for designing the project

C Large amounts of money are borrowed to pay for the project
D The project has limited environmental impact

[0 E The project brings national prestige to the country




Question

3 - Resource management

_Question

‘number | o , : o ; ‘
3(a) Award 1 mark for each of the following, up to a maximum of 2
marks: :
humans (1)
worms (1)
dogs (1)
cattle (1).
Accept any other appropriate response (2)
Question | Answer | Mark
number | : iR R i
2(a)(iv) | Award 1 mark for one of the following up to a maximum of 2 marks:
Income per capita/GNI per capita (1)
Life expectancy (at birth) (1)
Education/mean years of school and expected years of schooling (1)
Accept any other appropriate response
(2)
Question [ Answers | Mark
number | i GiEL
2(b) C
E (2)

Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue | — November © Pearson Education Limited 2015




SECTION B
Global Development

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box &4 and then mark your new answer with a cross [X.

2 The characteristics and reasons for development vary around the world.
(@) Study Figure 2a in the Resource Booklet.

(i) Define the term GDP (Gross Domestic Product)

Wy
A
§

AN
R

RPN
P!

Question 2 -~ Global development

Question | Answer -
number Dol

[ Mark
2(a)(i) Total wealth/income earned by a. country in a year. |

Accept any other appropriate response (1)




(i) Define the term deindustrialisation.

(iv) Using just the photograph in Figure 1b to investigate deindustrialisation
would be limiting.

Give three changes that could be made to this investigation that would help
prove that other areas have been affected by deindustrialisation.

Analyse Figure 1c in the Resource Booklet.

(d) (i) Identify the urban area that received the most migrants from London.

Manchester
Newcastle

Norwich

[ R R I A
O N w >

Southend

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue | — November © Pearson Education Limited 2015




(i) State two possible impacts on London of the migration pattern shown in
Figure 1c.

LS

Net flow of people to London
England and Wales, 2009 - 2012

Newcastle

Migration Flow out of London
= 8,450 — 5,000

i 4,999 - 1,000

e §OQ — ()

Middlesbrough

Migration Flow into London Leeds
s 4,001 — 7,000 Blackpool _
w000 - 4,000
— 1-999

. London

Hull

Manthester L% )
" y Sheffield @ Grimsby

Livéfpool )

RttiRgham

Telford

Birminggam Bl Peterborough

Cambridgé’

i
£

Gloucester

Oxford

Norwich

Ipswich
[

Swansea - o
Cardiff & ® - =@ Southend

Bristol Reading
Alder no

soUthampto

o Ports’nouth ® Bynghton
Worthing
Bournemouth

Plymouth

(Source:'ls London a drain on other UK cities?’ Sarah Marsh, George Arnett
© Guardian News & Media Ltd. 2014)

Figure 1c

Migration flow into and out of London 2009-2012

/ “® Hastings




‘humber

Loss of manufact'uringvéectior jobs/businesses (1).'

marks:
Increased competition for jobs (1)

Increased strain on services/schools/housing (1)

Overcrowding (1)
Changes the population structure of London (1)

Reject impacts on rural areas or areas where the migrants have left
(i.e. outside London). "

Accept any other appropriate response

1(c)(ii)
Accept closure of factories.
Accept any other appropriate response (1)
Question | Answer | Mark
‘number 8 L T e
1(c)(iii) | Award 1 mark for each of the following, maximum 1 mark:
Unemployment (1)
Lower family incomes (1)
Loss of community cohesion (1)
De-population (1)
Accept any other appropriate response
1)
Question | Answer Mark
number |- g , -
1(c)(iv) | Award 1 mark for each change, up to a maximum 3 marks:
Using land use maps or satellite images (1)
Using graphs of employment sector/unemployment (1)
Using GIS (1)
Accept any other appropriate response (3)
Question | Answer | Mark
number. |
1(d)(i) |D (1)
Question | Answer “TMark -
-number: | - - e POt RINEET
1(d)(ii) | Award 1 mark for each of the following, up to a maximum of 2

(2)




SECTION A
Geographical Investigations - fieldwork

Answer only one question from Question 1: Investigating physical environments (rivers)
and Question 2: Investigating physical environments (coasts).

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box ¢ and then mark your new answer with a cross [X.

Chosen question number: Question 1 [[] Question 2
Question 1: Investigating physical environments (rivers)

1 A group of students was collecting data along the length of a river as part of an
investigation into changes in a river channel.

(@) The students had planned to use a flow meter to measure the velocity of the river,
but one of their chosen sites was too shallow.

State one way they could adapt their technique.
(1)

(b) Give one piece of equipment, other than a flow meter, they would need to use to
investigate river discharge.




Paper 3 Mark scheme

Question Answer Mark
number
i(a) Award 1 mark for one of the following, a maximum 1

mark:

use a float/ping pong ball/cork/orange/stick (1)

use a flow meter with a smaller impellor (1).

Accept any other appropriate response. (1)
Question Answer Mark
number
1(b) Tape measure/ruler/chain/stopwatch

Accept any other appropriate response. (1)
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Calculate questions

Example 1 — GCSE A, Paper 2, Question 2a (iii)

¥ The characteristics and reasons for developrment vary around the warld,

lat Study Figure Za in the Resource Booklet,

Gross Domestic Product {EDP) in U, dollars (billions)

il L)

2004

L4

104

Japan

5

4.8

Methedands

Hpairi

LI

10.3

Figure 2a

0.3

1A

7.4

Chiarges In Gross Domestic Product (GDP) for selected coumtries, F000-2014

(i} Calculate the mean GDP for the countries on Figure 2a in 2014,

Answer to one decimal place.

Show your workings in the space below.

© Pearson Education Ltd 2015.



GCSE Geography (9-1) Examiner Marked Student Responses

Mark scheme

Question | Answer Mark
number
2(a)(iii) | Working to show:

The correct addition of total GDP ($billions), 37.3 (1)

The division of this number by 7, the total number of countries,
ariving at a mean of 5.3 - or 3 number that rounds to 5.3 - USS
billion (1)

Maximum of 1 mark if no working out is shown, (2}

Student answers to part (iii)

(iii) Calculate the mean GDP for the countries on Figure 2a in 2014.

Answer to one decimal place,
Show your workings in the space below. '
(2)

O- U
~n L UL
9 .
{ ® = . ey » w y ;{
, {‘ ) } - é S 5/ S Y > 2 a} b §‘{’<§ o
7 3, i s & £ » & 5.
&J{' T Rt £
'Y o
: Sl USS billion

Examiner s comments
This response is awarded 2 marks.

The candidate is awarded the first mark for the correct addition of the
total GDP (1), although there is no requirement to write out all of the
data like this candidate has done.

The second mark is awarded for arriving at the correct answer, and
being able to write this to one decimal place (1).

© Pearson Education Ltd 2015. 9



You will be asked to do some maths questions. You will need to know about mean, median and modal
averages, interquartile ranges, percentages, ratios and more.

The command words tend are:
] Plot

° Calculate

These are low scoring questions that are important to get as they should be simple and easy for you.

You take CALCULATOR into the exam with a pencil and ruler.



(b) Study Figure A below.

(i) Complete the line graph in Figure A using data from the table below.

Height above sea level (m) Vegetation type (ecosystem)

0-900 Tropical Rainforest
900-1800 Temperate Forest
6000
5000
4000
Metres above 3000
Sea Level
2000
1000
0
Sea level Tropical Temperate Coniferous Tundra Snow and lce
Type of Ecosystem
Figure A
Changes in large ecosystems up a mountain in South America
Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —

Issue | — November © Pearson Education Limited 2015




Question
aumber

Answer

Mark

7(b)(Q)

Award 1 mark for each correct plotr(2 x 1)
mark for joining dots together (1)

Changes in farge ecosystems up

Award 1

Watras above
Lo | awel

R b
SR

AEHNY A

I

mountain in South Ametica

¥
H

!

Lag Level

—%

ropist

jempaats  Londergus

Typ of Feasysha

funtize  snow andl 68

(3)




(i) Plot the data for Cambodia and Mozambique given in the table below on
Figure A.

{2)

Sl e S L Percentage (%) of
-~ Country . - Life exp_ectanty (years)r '/ people with accessto.

Cambodia { 70 ' 30 :

Mozambique | 50 57

(i) Draw a best fit line on Figure A,

(h
(i) Give one reason for the relationship shown in Figure A.
)
Question | Answer Mar
Ques ISV Mark
number ; L o : E £ S
2(d) (i) One mark for each correct plot. : (2)
W Pearson Edexcel Level /Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
’ ' Issue | — November ® Pearson Edueation Limited 2015
Question | Answer : U el T 3 | Mark
number DR L =
2(d)(ii) 1 mark for an accurate best fit line which shows that life expectancy
increases with increased access to safe drinking water. (1)
Question | Answer ' ‘ SR e 7 Mark -
‘number ' ' T :

2(d)(iii) ‘Award 1 mark for a reason for the relationship shown in Figure A,
maximum 1 mark.

* People drinking safe water do not get diseases and live longer
(1).

* Development projects such as building wells or irrigation have
improved overall basic living standards (1).

Accept any other appropriate response, (1) 4




(d) Study Figure A below.

Life expectancy (years)

100 _

90 |

80

70 |

60|

50 -

40

30

20

10]

Percentage (%) of people with access to safe drinking water

Figure A

(Source: Nationmaster)

Life expectancy and access to safe drinking water in selected countries

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials
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(b) Study Figure 3 in the Resource Booklet.

(i) Identify the percentage of stock that was overfished in 2011.

A 28%
£l B 58%
C 78%
D 98%

(i) Calculate the difference between the percentage of total stock underfished
between 1974 and 2011.

%

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue | — November © Pearson Education Limited 2015




(iii) Suggest one reason for the trend in the percentage of stocks underfished
shown in Figure 3.

(2)
(iv) Suggest two ways the trends shown in Figure 3 would impact on this
environment.
(4)
1
2 e85 8558555151555 5515555 s

(Total for Question 3 = 10 marks)

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials
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100
90
80
70
60
50
40
30
20
10

0

Overfished

Percentage of stocks assessed

Hnderfished

Al J‘L_&-L'
1974 1978 1982 1986

{11 (S 1

§ S I A} A0 [ TR VN (O S

1990 1994 1998 2002 2006 2011
Year
B Overfished at biologically unsustainable levels

" Fully exploited fish stocks
L Underfished stocks

(Source: Extract from ‘http://wwf.panda.org/about_our_earth/
all_publications/living_planet_report/’)

Figure 3

Global trends in the state of marine fish stocks, 1974-2011 (FAO, 2014)

Y, [_f
Pearson Edexcel Level |/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials — (
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104

Question | Answer Mark
number - o
3(b)(H [A 1)
‘Question | Answer Mark
number | . v |
3(b)(ii) Accept between 31% and 27% (1)
‘Question | Answer 1'Mark
‘number ] ' G S : o
3(b)(iii) | Award 1 mark for suggesting one reason, and a further 1 mark for an

appropriate extension, up to a maximum 2 marks:

increase in overfishing creates stock reduction for the future (1),

which leads to an unsustainable stock level for future generations (1)

more overfishing leads to a decline in the percentage of stocks that

are underfished (1) because of a reduction in juvenile fish (1)

increase in marine pollution/impact of global warming on the oceans

(1), leading to a general decline in the health of fish stocks (1).

Accept any other appropriate response (2)

Pearson Edexcel Level I/Level 2 GCSE (é-»l) in Geography A — Sample-A;ssessment Materials —
Issue | — November © Pearson Education Limited 2015

Question | Answer _ [Mark
number . | "7 S , '
3(b)(iv) | Award 1 mark for a basic environmental impact of overﬁshm_g and a

further 1 mark for extension through description or explanation, up to

a maximum of 4 marks:

fewer fish left in the sea/ocean (1) use of data from Figure 3 to

support (1)

reducing the amount of fish that predators eat (1), therefore having

knock-on effects further up the food chain (1).

increases the species further down the food chain that the fish would

have consumed (1)

a decline in fish stocks in one area (1) could lead to other un-tapped

parts of the ocean might becoming exploited (1).

Accept any other appropriate response. (4)




Spelling, punctuation and grammar will be assessed in 5 (e)

5 The development, production and consumption of different water resources needs to
be managed carefully.

(a) ldentify the percentage of the Earth’s water that is fresh water.

I I O I

A
B
C
D

3%

40%
60%
97%

Study Figure 5 in the Resource Booklet.

(b) (i) Calculate the increase in water use between 1950 and 2010.

million acre-feet

(i) Calculate water use as a percentage of water supply in 1986.

(iii) Identify the total water use in 2020 if the trend shown on Figure 5 continued.

11.5
13
14.5

O 0O 00

A
B
C
D 18

(1)

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
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Million acre—feet

25

20

.
4 \
N0,
S A b b :..A"%”“M.«.. e N
>
i’ . e ¢
iy R e ¥ b
.
g b H
S Bl
B s
H
]
o n o n o N o n (= N o n o n Q
N n O n ~ N 0 o] o o o o — = [
o o o o o o o o o o = o o o o
— o — — — — — — — — o~ (o] o N ™~
Year

== \Nater supply, 10 year running average
== \Nater use, 10 year running average

Figure 5

Water supply and water use in the Colorado River Basin, 1950-2010
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Question 5 - Water resource management

Question | Answer Mark
number
5(a) A (1)
Question | Answer Mark
number
5(b)(i) 7.5 million acre-feet (1)
Question | Answer Mark
number
5(b)(ii) 65.8%

Accept between 60% and 70% (1)
Question | Answer Mark
number
5(b)(iii) | C (1)
Question | Answer Mark
number
5(b)(iv) | Award 1 mark for suggesting one reason, and a further 1 mark for

an appropriate extension, up to a maximum 2 marks:

between 1950 and 1980, the area received a similar amount of

rainfall (1) so the water supply did not change very much during

that period (1)

the Government might have been trying to conserve water since

1988 (1) which has led to a fall in water supply (1)

water transport systems / pipes may be leaking and in need of

repair (1), which is why water supply has been falling in the last 20

years (1)

increased amount of rainfall / wetter seasons (1) increased the

water supply during the early-mid 1980s (1).

Accept any other appropriate response (2)

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue | — November © Pearson Education Limited 2015
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Answer only one question from Question 4 (Energy Resource Management) and Question 5
(Water Resource Management).

Indicate which question you are answering by marking a cross in the box [X. If you change your
mind, put a line through the box £ and then indicate your hew question with a cross [X.

Chosen question number: Question 4 [ Question 5 []
Spelling, punctuation and grammar will be assessed in 4 (e)

4 The development, production and consumption of different energy resources needs
to be managed carefully.

(a) ldentify the renewable energy resource.

natural gas
coal
the sun

oil

O B B K
O Nn W >

Study Figure 4 in the Resource Booklet.

(b) (i) Calculate the increase in onshore wind power generation between
2000 and 2010.

(i) Calculate the percentage of total wind power that was from offshore
generation in 2010.

. %

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
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(iii) Identify the total wind power geherated in 2015 if the trend shown on
Figure 4 continued.

A 8000

1] B 12000
0 C 16000
D 20000

(iv) Suggest one reason for the trend between 2000 and 2010 in Figure 4.




12000

10000

8000

6000

4000

Megawatts of renewable energy
generated by wind power (MW)

s

2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014 2015

Year
B offshore windfarms (out to sea)

onshore windfarms(on the land)

Figure 4

Renewable energy generated by wind power in the UK, 2000-2013

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
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Question 4 - Energy resource management

Question | Answer Mark
number
4(a) C (1)
Question | Answer Mark
number
4(b)(i) 3600 MW

Accept 3500 to 3700 MW (1)
Question | Answer Mark
number
4(b)(ii) 24.5%

Accept 22% to 28% (1)
Question | Answer Mark
number
4(b)(iii) | B (1)
Question | Answer Mark
number
4(b)(iv) | Award 1 mark for suggesting one reason, and a further 1 mark for

an appropriate extension, up to a maximum 2 marks:

government renewable energy targets (such as Kyoto Protocol) (1)

because it incentivises investment in renewable energy sources (1)

desire to increase the UK’s energy mix (1), which will reduce reliance

on fossil fuels (1)

government subsidies for renewable energy (1), which makes

investment in renewable energy sources more viable/cheaper (1)

public dislike of onshore windfarms/'nimbyism’ (1) has led to an

increase in offshore wind farm construction (1).

Accept any other appropriate response (2)

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
Issue | — November © Pearson Education Limited 2015
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(d) (i) Study Figure 1b in the Resource Bobklet.

Which of the following are the correct units used for cross-sectional area in

Figure 1b. '
{1}
O A m2
b B m
C m?
[ D mm?
(ii) Calculate the mean and median depth of the river.
(2)
Mean depth = m
Median depth = i m
120 Pearson Edexcel Level I/Level 2 GCSE (9-1) in Geogr‘aphyA - Samp!e.Assessment Materials —
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Question Answer Mark
number ‘
1(d)(i) A (1)
Question Answer » Mark
number
1(d) (i) Mean depth = 0.28 m (1)
Median depth = 0.16 m (1) _ (2)
Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials — 147
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A table of river data collected by a geography student.

Figure 1a
Channel |\, s | site1 | site2 | Site3 | Sited | Site5
variable
Width (m) (m) 0.45 0.52 0.78 0.85 1.10
Depth (m) | (m) 010 = 013 | 016 | 08 | 021
Cross-
sectional 0.05 0.07 0.12 0.68 0.23
area
Velocity (m/sec) 0.45 0.47 0.56 0.55 0.51
Discharge (m3/sec) 0.02 0.03 0.07 0.37 0.12
Figure 1b

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Geography A — Sample Assessment Materials —
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This asks you to pick out patterns on a graph or map. In the exams we have seen so far you will awarded 2
marks for this question.

You should use the PQE Structure.

Pattern—Describe the trend. (Increases, Describe, Fluctuates, increases/decreases dramatically then flattens

out, plateau)

Qualification—Use numbers (work out the average, range, difference between the highest and lowest, say

when the highest and lowest occur on the graph or map)

Exceptions—Pick out anything that stands out as being different from the pattern you can see.

(iii) One form of information that could be used to investigate the impact is
websites.

Describe one technique that could be chosen to process this information.

(2}
‘Question | Answer “I'Mark
number , S L o e
2(c)(if) | Award 1 mark for each descriptive point, up to a maximum of 2

marks:

A *wordle’ or similar online tool could be used (1) to analyse the text
of websites to see words frequently in the source text (1).

Text could be coded into positive and negative impacts (1) and then
counted (1).

Accept any other reasonable response,

(2)










GCSE Geography (9-1) Examiner Marked Student Responses

Example 2 — GCSE A, Paper 2, Question 5b (iv)

5 The developmeant, production and consumption of differant water resources neads to

bie managed carefully.

25 T e

20

faillion acre-fist

T -

75

b
piY i

1550
55
160

1156 -
970

fi7
s
1ogs
1940

1995
00

‘fEar
s AWYARSE SUpEl T vaar surmning Swerages
e W ETEY e, 10 wesr rLENrng average

Filgura 5
Water supply and water use n the Colorado River Basin, 19502010

(i) Suggest one reason for the charges in water supply between 1050 and 2070
an Figure 5.

P s
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Mark scheme

Cuestion | Answer - Mark
number
S5(b)iw] | &ward 1 snark for suggesting one reason, and 3 further 1 mark for
an appropriste extension, up to @ maxisum X marks:

bhatween 1950 and 1980, the area received a similar amount af
eainfall {1) so the water supply did not change very much during
that period {1}

the Govarnment might have been trying to conserve water singe
1538 {1} which has led to = fall in water supply (1)

wWatEr transport systems / pipes may be lesking and in nesd of
ropair {1), which is why water supply has been falling in the fast 20
years (1)

increased amount of rainfall / wetter seasons {1} increased the
water supply during the eariy-mid 1980s {1},

Accept any other appropriate response {2}

Student answers to part 5b (iv)

ol 3A @:’?iﬂ; 4! i(ji./tfi"’ e ( i%’”‘é?ifif?}{%? w{ .h&( Al
\\

Mol apsanit

Lf}(? L A \.x {(V? v i,} fn «f}f i\(:'\ w/«&f};&! 5?£ o ;f;)_{:}_‘ Cf:?(\/(.x"{. & -{}_, uSk} {V{, Q‘ L@‘{{:}(j‘/{ c’ . {»3
e vl 4D W Ny . \J
‘YI x {XQ (2 E.\{Ti,; 1}/\ -‘i{f

Examiner s comments
This response is awarded 1 mark.

Question is ‘suggest one reason..’, therefore application of
knowledge and understanding is being assessed here - and a
developed point is required for full marks.

The candidate has made a valid point about differing levels of
rainfall from year to year (1) but this has not been developed for
the second mark, for example by linking this to a decrease in the
availability of water for supply.
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Question | Answer ' T e T s e e Mark.
‘number L L e g e e T
6(b)(ii) Award 1 mark for a basic impact, and a further one mark

expansion up to a maximum three marks.

Domestic water supply shortages (1), leading to hosepipe
bans/lack of water for swimming pools (1) as the need for
water conservation increases (1).

Water supply for recreational purposes is restricted (1), e.g.
there is not enough water to irrigate golf courses (1) which )
could result is a loss of business (1).

| Water supply for farming is reduced (1), making it harder to
irrigate the land and grow crops (1), which might push up food
prices for consumers (1).

Accept any other appropriate response. ] (3)










GCSE Geography (9-1) Examiner Marked Student Responses

Open response ‘explain’ questions

Example 1 - GCSE A, Paper 1, Question 1 (c) (ii)
1 UK landscapes are constantly being changed by different processes.

(ii) Explain one way in which farming affects the landscape.

m»._
ableS

Mark scheme

Question | Answer ' Mark
number -
1(c)(ii) Award 1 mark for farming activity and a further one mark for

effect on the landscape, up to a maximum of 2 marks:

Farming clears the natural surface vegetation/trees (1), which
can result in a mono-culture and/or artificial landscape (1)

Farming can plant the same crop over and over (1) which can
give landscapes the same appearance (1)

In some parts of the UK, farming has led to a loss of hedgerows
(1) as farmers removed them to improve efficiency of farming

(1)

Farming has led to sheep in upland landscapes (1) which has
created a deforested and grazed/grassy landscape (1)

Accept any other appropriate response (2)

© Pearson Education Ltd 2015. /



Student answers to 1 (c) (ii)

Examiner s comments

This response is awarded 2 marks. The candidate has identified a
farming activity - cutting trees down (1) and has then explained why
this affects the landscape - decline of plant species (1).

x('”‘("}x,:{,xx\. - (’?} OlfectS. Ene SO S.Saee

BPATPTSNUUNIE o 0 20 L S SN o> IV WA VR VX S
VSO0 W O (v, (10N SN A S0 W %~ SO

A Onumad) o eodd ke ({ﬁ’;f 0SS  Warveh
A AN CouLaN QEFeCr e

%(ow\”’v Of Ao (a, AN

RS )

Examiner s comments

This response is awarded 1 mark. The candidate has identified a
farming activity which affects the landscape - dig up land to plant
crops (1) but has not developed this point by offering any
explanation as to why this affects the landscape. The idea about
‘eating the grass’ is not worthy of credit.
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Example 3 - GCSE A, Paper 1, Question 5 (a) (iv)

5 The UK's climate experiences significant variations.

Anrual Rainfall

Temperature |
AegtC

g

== Al,trtﬂdé B S

Newquay

" Annual Rainfall
by

B

 Annual Rainfall

Hull

L

‘ Ternperature ‘
Awg L

135"

Altitude

Temparature
Avg T

11

Altitude

190

L. N

Tokal

. annual

rainfall

s

LA

Mmﬁﬁlch.
~ annual Rainfall

“femperature
Avg’C

BRIy

7 Altitude

(Source: ARICE Armesphere, Climate & Environment Infarmation Frogramme]

Figure 7

Magp showing rainfall and other climatic variables for locations in the UK

(iv) The prevailing wind, which is shown in Figure 7, influences the climate of

the UK.

Explain ome way prevailing wind affects the climate of the UK.

16
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GCSE Geography (9-1) Examiner Marked Student Responses

Mark scheme

Quesktion
number

Answar

Mark

S(a)(iv)

Baeard 1 mark for point about pravailing wind and a further cne
mark for esch effect on the climate of the UK, up to &
mzwirnuwm of 3 marks.

Map shows larger amounts of precipitation in the west {1}
bacause the prevailing wind brings meist air from the sauth
west {1), which rises aver land and condenszes [1).

Map shows locations in the east have higher temperatures (1},
which could be because thay are not facing the prevailing wind
{1} and therefore are shaltered by the higher altitudes in the
wast (1.

Accept any other appropriate response

(3)

Student answers to 5 (a) (iv)

The map shows tht the prevaing wind nthe UK blowsfrom the southwest,Tis meansthere s more ranall in
the et This s because the wind pick up molsture s f asses over the sea, When it reaches the nd the o

ises and water vapour condenses and it rais,

Examiner s comments
This response is awarded 3 marks.

The candidate makes the initial point that there is more rainfall in

the west (1) followed by two linked points; the first about the wind
picking up moisture over the sea (1) and further development
linking the rising air/ condensation to higher rainfall (1).

© Pearson Education Ltd 2015.
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Renfl s ighest inthe west i temperature are ower, T prevang wind i cooler in surmer which e
tls coder inthe west

Examiner s comments
This response is awarded 2 marks.

The candidate has identified two relevant points about the impact of
the prevailing wind on the UK’s weather (rainfall and temperature).
However, only 1 mark is available for the basic impact so double
credit cannot be given here. A second mark is given for the
development point about temperature. This would need to be further
developed to gain maximum marks.

The temperature is cold in Ben Nevis. It is really hilly.

Examiner s comments

This response is not creditworthy and has been awarded 0 marks.
While both points are lifted from the resource, the candidate has not
made any links to the prevailing wind direction and not tried to
explain why it is cold at this location.

i8 © Pearson Education Ltd 2015.



GCSE Geography (9-1) Examiner Marked Student Responses

Example 5 — GCSE A, Paper 2, Question 4d

4 The development, production and consumption of different enargy resources needs
to b managed carefully.

id| Explain one reason why non-renswable energy resources need to be managad.

Mark scheme

Duestion | Answear - - Mark
number
4{d) Bward 1 far point about energy source and z further ane mark

for explanation of its effect, up to a maximum of 4 marks:

non-renewable energy resources are finite (1), which means they

will evermually run out {1} so alternatives in the form of renswables
are nesded that can be vecycled/reuszed/replenished (1) over a
sharter period of time (1)

non-renewable energy resources emit carbon diozide {1} which is 2
greenhouses gas (1) and causes global warming (1}, which causes
sea level rsefevtremeas in climate {1)

Bccept any other appropriate response {4

Student answers to part 4d

i
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Examiner s comments
This response is awarded 3 marks.

The question only requires one reason, but as it is worth 4 marks, a
good degree of depth (rather than breadth) is needed.

The candidate actually covers two reasons: in the first sentence
there is a potential 1 mark for saying that non-renewable energy
resources will eventually run-out. However, the candidate goes on to
make a separate point about giving off carbon dioxide when burnt

(1) which is a greenhouse gas (1) which can add to the problems of
global warming (1).
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Examiner s comments
This response is awarded 2 marks.

The candidate provides examples of non-renewable resources (for no
credit), and then goes on to say that they there is only a fixed
amount of them for 1 mark (‘finite’ on the mark scheme) and that
they will eventually run out for the second mark.
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The is the most common command that you will come across in all 3 exams. It is a chance for you to show
off and use high level language in a structured way.

You need to pay attention to the amount of marks available because different amounts of marks will re-
quire different ways of writing.

Explain for 2 marks:

= This requires you to write a point and give a short explanation.
Explain for 3 marks:

= Requires a PEEL paragraph.

Explain for 2 ideas for 4 marks.

= Give a point and explain twice. You will be given numbers 1 and 2 in the lined area under the ques-

tion.

Explain for 4 marks. Explain PEEL sentence Starters:

= A clear and well written PEEL paragraph. Point

=  To begin with....

=  One factor to explain is....
The marks tend to focus on the way you answer and not
the information. =  The first reason....
Evidence

One of the major pitfalls in the question is thinking that N ..... happened .....

you can judge give lots of information.
=  Thisis shown by....

=  This is evident in the example from/by .....
=  As aresult of this.....

Explanation
=  And further more....
=  This is because....

=  This leads to....

= So, this means that.....
=  Consequently.....
=  This therefore....

=  Shows that....a




(ii) Explain one way in which farming affects the landscape.
‘ (2}

(Total for Question 1 = 6 marks)

Question [Answer = B T I Mark
_number R S S . o : '
1(c)(ii) Award 1 mark for farming activity and a further one mark for -

effect on the landscape, up to a maximum of 2 marks:

Farming clears the natural surface vegetation/trees (1), which
can result in a mono-culture and/or artificial landscape (1)

Farming can plant the same crop over and over (1) which can’
give landscapes the same appearance (1)

| In some parts of the UK, farming has led to a loss of hedgerows
(1) as farmers removed them to improve efficiency of farming

(1)

Farming has led to sheep in upland landscapes (1) which has
created a deforested and grazed/grassy landscape (1)

Accept any other appropriate response (2)
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Gv) The prevailing wind, which is shbwn in Figure 7, influences the climate of
the UK.

Explain one way prevailing wind affects the climate of the UK.

(Total for Question 5 = 7 marks)

=1 [ 0 oxa VA mm—m— — - —

(i) Channelisation is an example of hard engineering.

Explain one way channelisation helps manage river landscapes.

(2)
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Question | Answer Mark -
number E . , L . : ,
5(a)(iv) Award 1 mark for point about prevailing wind and a further one

mark for each effect on the climate of the UK, up to a

maximum of 3 marks. '

Map shows larger amounts of precipitation in the west (1)

- because the prevailing wind brings moist air from the south

west (1), which rises over land and condenses (1).

Map shows locations in the east have higher temperatures (1),

which could be because they are not facing the prevailing wind

(1) and therefore are sheltered by the higher altitudes in the

west (1.

Accept any other appropriate response (3)
Question | Answer | Mark -
number | . : : : S - e
3(a)(iti) Award 1 mark for point about channelisation and a further one

mark for how this protects river landscapes, up to a maximum
of 2 marks:

Making the channel wider or deeper (1) increasing the capacity
of the river to hold water (1)

Where a channel is straightened/meanders are removed (1) so
water can pass through the area more quickly (1)

Concreting of beds and banks (1) reducing friction/increasing
velocity/reducing flood risk to that area (1)

Accept any other appropriate response

(2)




(Source: ARIC's Atmosphere, Climate & Environment Information Programme)

Figure 7

Map showing rainfall and other climatic variables for locations in the UK
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(b) (i) Explain one human cause of drought.

(2)
(i) Location Y experiences dry conditions.
Explain one reason why atmospheric circulation contributes to the climatic
conditions atY. ’
’ (3)
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Question -

number

Answer

Mark

6(b)(i)

Award 1 mark for point aboutrhuman cause of drought and a
further one mark for explanation of .this, up to a maximum of 2
marks.

De-forestation leads to a reduced tree cover (1) which means
that there is less interception (1).

Intensification of farming (1) may involve unsustainable use of
irrigated water in crop production (1). S

Construction of large reservoirs (1) may cause drought
downstream by reducing the flow of water (1).

Reject natural causes of drought.

Accept any other appropriate response

(2)

Question

-number

‘Answer

| Mark

6(a)(iii)

further one mark for its contribution to climatic conditions, up
to a maximum of 2 marks.

sub equatorial South America) (1) which brings dry/hot
weather (1) so there is a lack of rainfall (1).

The high pressure conditions (1) lead to cloudless skies/warm
temperatures (over 20°) (1) because of the lack of
condensation (1).

Accept any other appropriate response

Award 1 mark for point about étmospheric circulation avhd a B

The air mass originates from an-area of high pressure (around

(3)
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Figure 8

Global atmospheric circulation
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(

) Study Figures 9b and 9c.

Explain two reasons for the link between sea surface temperatures and
cyclone distribution. ‘

(Source: © NASA)

Figure 9b

Map showing the global distribution of cyclones’ tracks




(Source: © National Oceanic and Atmospheric Administration and the Department of Commerce)
Figure 9c¢

Global sea surface temperatures in °C
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-Aumber:

‘Question

Answer

| Mark

6(c)(ii)

Award 1 mark for point' a‘bout sea surface témperéture énd a
further one mark for how this links to cyclone distribution, up to
a maximum of 4 marks.

Figure 9c shows warm sea surface temperatures are near the
equator (1) which corresponds with the pattern of hurricanes
forming around the equator in Figure 9b (1).

Figure 9c shows warm sea surface temperatures of over 25 °C
to the east of South America (1), which would create the
pattern of cyclones shown to the east of Central and North
America (1).

Figure 9b shows cyclones only form just north or south of the
equator only, but not on the equator (1) where there is rotation
of air because of the Coriolis effect (1).

Pattern of cyclones on Figure 9b shows they do not normally
form over land/in colder seas with surface temperatures much
less than 25 °C (1), which is because they need the warm
water as a source of latent heat of energy (1).

(4)

Accept any other appropriate response

Pearson Edexcel Level 1/Level 2 GCSE (9-1) in GeograpEyA — Sample Assessment Materials —
Issue | — November © Pearson Education Limited 2015




(i) Explain two ways in which plants have adapted to living in a tropical
rainforest.

(i) With reference to the line graph in Figure A, explain how changes in altitude
affect the distribution of ecosystems. .

o
fre,
e
et




Question | Answer S S Mark- :
number . . : -

7(d)(ii) Awérd 1 mark for identification 6f the adaptation and a further
one mark for an explanation of the adaptation, up to a
maximum of 4 marks. ‘

Drip tips (1) to remove excess water in conditions of over
2000mm of precipitation (1).

Buttress roots (1) to stabilise the trees as they increase in
height (1).

Waxy leaves (1) to stop water infiltrating into leaf and rotting it

(1).

Tall straight tree trunks (1) to grow straight up towards the
light to out compete other species (1).

Epiphytes sink roots into a host plant (1) so they do not need to
sink roots to the ground (1).

Accept any other appropriate response 4 (4)

Question | Answer S T AT ' ¢ | Mark
number - |- ; B : ; :
7(b)(ii) Award 1 mark for interpretation of the line graph and a further

mark for a link to the distribution of ecosystems, up toa
maximum of 2 marks each.

Tundra can exist only above 4000 m (1) because other trees
cannot grow in the thin soil at the top of a mountain (1).

The line graph shows the steepest increase is between 1900
and 3800 m (1), which means that coniferous forests can exist

in a greater range of altitude/temperature than the other
ecosystems shown on Figure A (1).

Tropical can exist only under 900 m above sea level (1)

because it cannot survive in the colder temperatures associated
with higher altitude (1).

Accept any other appropriate response ‘ (4)
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(iii) Study Figure 11 in the Resource Booklet.

Explain why there are differences in these nutrient cycles.

Question | Answer ' T T mark
number. g LR S v
7(d)(iii) Award 1 mark for identification of the difference and a further

one mark for an explanation of this point, up to a maximum of
4 marks.

Biomass store - bigger in TRF (1) as more nutrients are held
in the vegetation because of the high biodiversity in the system
(1) so there are more available nutrients (1), as there is more
photosynthesis, meaning a greater amount of productivity (1).

Soil store - smaller in TRF (1) - as the nutrient uptake is :
higher in TRF and there is greater amount of leaching due to
more rainfall in TRF (1).

Litter store - smaller in the TRF (1) as the rate of
decomposition is much greater because of the high humidity
(1).

Arrows are generally larger in TRF as the rate of nutrient
recycling is much faster between stores (1) due to climatic and
biodiversity, meaning that transfer is more preferable in TRF

(1).
Accept comments based on different-sized stores/arrows in the
temperate deciduous forest. . A (4)
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